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ECONOMICS
( 'Honours Core )
Paper : ECO-HC-4026
( Intermediate Macroeconomics—II )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
Jor the questions B

. Answer either in English or in Assamese
1. Answer the following questions s 1x10=10
T 2P e e
(@) What is fixed ihvestrnent?
R Rfvam &2
(b) What ‘is government dcbt?
e 99 R 2 |
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(d

(e)

(9)
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(2)

What is effective demand?

i v 2

What is consumption function?

cotst I R 2

Who provided t_he Rational Expectatmn
hypothes1s? ) ,

mﬂ—mmm@m_

9GRS ?

'What is neutral technical progress?

s e wppelfS 6 2

“Central bank of a country formulates
monetary policy.” Is it true or false?

“g OPR IR QTF IS M s
FE 1" G T (| TS ?

Who propounded endogenous growth
model?

TEERS REPR TG @I ToRe IR 2

( Continued )

(3)

() Name one new-classical economist.
e RS SRR T e |
(i)» Mention one limitation of Solow model
a7 IR b1 el ST T |
2. Answer the following questions : 2x5=10
Co P el
(@) What is meant by liquidity trap?

v

©
@

(e)

o ¥ I 6 @2

Mention two limitations of classical
theory. ' o

Define golden rule of Solow model.
w7 e G SR R o

What is Ricardian equivalence?

Reym st R 2

Mention two elements of endogenous

- growth.
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(4) - (5)

3. Answer any four from the following o " () Discuss various . determinants  of
questions : : 5x4=20 _ business fixed mvestment ,
Wﬁﬂ“’!ﬁ"“ﬁm‘m’wm Wﬁ?ﬁﬁm‘ﬁﬁmWWl

(a) Explain the basic features of hew-
classical school of macroeconomic

thought.
4. An i i : =
el ST SRR TSRS R B swer the followmg questlons 103<4 40
WWWWI ) , i Wh‘ﬁ ﬁ-;n,:
(b) Explain the objectives of monetary (a) Critically dlscuss the Solow model of
policy. . economic growth S
(Tt MeT REPIR I 1) | R ﬁm G S
(c) Explain the budget constraints of the :
government. . Oor/ W& -

TR T TP T |
Discuss the mstabmty of growth process

R . : of Harrod-Domar models.
(d) Explain various motives of demand for

money as indicated by Keynes. RS-’ W WA ﬁW ﬂm ST
RS TS T TWH oln SR Iam -
01

(b) Critically discuss the lifé-cycle

(e) Explain the dissimilarities b
etween hypothesis of consumption function.

Harrod and Domar growth models. -

@S W TR Ry Wi TR TPIER o191 TR ENI-5 RGO ST TR
SILALE L o HICEAB F0
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te) (7)

Or/ &%[Y Or / G4l

vCriticall'y discuss Fisher’s theory of Di ‘ ] .
optimal intertemporal choice. IScuss ‘the relationship = between-
technological progress and elements of

RYT I TR AHT OGO S endogenous growth.
SZFII A 47 | ' ‘

Hfere wpafs o SoERe | REPR
%WWWWWI :

10

What is meant by random walk of
consumption expenditure? Discuss
various factors determining con-

sumption function. 3+7=10

SRS o T 1 e R @2 o I
e 1 RS TAAMHCIR S =1 1

(c
* %k k.

Or / SR

Discuss the main features of Keynesian

economics. . 10 ,

i C @utn AR AR SRR
| (ARSI SCao 97 |

(d) What are the main targets of monetary
! policy? Discuss the rule versus
discretion of monetary policy of a
~ country. . 4+6=10
(e M T 79 B B2 9 PR
CMfes e w7 =\ R s
A&l
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